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1.1  

 
 

11 789 = y0 * 10-0,0104*82 |: 10-0,0104*82 
 



           11 789    
y0 = ------------ = 11789 * 100,0104*82 = 84 000 Lux 

       10-0,0104*82    

 
y = 84 000* 10-0,0104*x 

 

1.2 

 
x       0         20         40         60         80      100      120      140    160  

y   84 000  52 033  32 231   19 965  12 367  7 661   4 745   2 940 1 821  
 

 
 

 
Abgelesen: (50,25 000) 

 
Genaue Rechnung: 

 
Um 59 000 Lux weniger bedeutet, es sind noch  

 
84 000 Lux - 59 000 Lux = 25 000 Lux vorhanden. 

 
25 000 = 84 000 * 10-0,0104*x | :84 000 

 
0,2976 = 10-0,0104*x |lg 

 
lg 0,2976 = lg 10-0,0104*x 



 
lg 0,2976 = - 0,0104 * x | :0,0104 

 

          lg 0,2976  
x = -------------- = 50,6 cm 

         - 0,0104      
 

1.3  

 

15% von 84 000 Lux = 0,15 * 84 000 Lux = 12 600 Lux 
 

12 600 = 84 000 * 10-0,0104*x | :84 000 
 

0,15 = 10-0,0104*x |lg 
 

lg 0,15 = lg 10-0,0104*x 
 

lg 0,15 = - 0,0104 * x | :0,0104 

 
          lg 0,15  

x = -------------- = 79 cm gerundet 
         - 0,0104      

 
1.4  

 
x = 1 

 
y = 84 000* 10-0,0104 = 82 012 Lux 

 
Verlust pro cm: 

 
84 000 Lux - 82 012 Lux = 1 988 Lux 

 

Verhältnisgleichung: 
 

84 000 : 100 = 1 988 : x 
 

84 000 * x = 1 988 * 100 | 84 000 
 

       1 988 * 100   
x = --------------- = 2,4% 

          84 000 
 

1.5 

 

0,5 = 10k*12 | lg 
 

lg 0,5 = lg 10k*12 



 
lg 0,5 = k * 12 |:12 

 

        lg 0,5  
k = --------- = - 0,0251 

          12 
 

1.6 

 

106 000 * 10-0,0251*x  = 84 000 * 10-0,0104*x | :84 000 
 

1,2619 * 10-0,0251*x = 10-0,0104*x | : 10-0,0251*x  
 

               10-0,0104*x  
1,2619 = ----------- 

               10-0,0251*x  
 

1,2619 = 10-0,0104 * x - (-0,0251*x) 

 

1,2619 = 100,0147*x |lg 

 
lg 1,2619 = lg 100,0147*x 

 

lg 1,2619 = 0,0147*x | :-0,0147 

 
       lg 1,2619    

x = ------------ = 6,89 cm = 7 cm gerundet 
         0,0147  

 


